


23

12

2 3



23 9 2 12

23¢9 208126 7




12

[ 235200 A 02 11580053 3 (15:00]U5 T/ 02] Soptombor] 2011) I




23

12

04BN

25m/sLl E DR EIS
15misl_E D8 RIS

fERA251

2 15

SEsE12E (252
FRkeaFE0 Aoz B 158505 HR

<02 15850 =i

Fiv=2s] gt

R =

TEiT et = P U 12 30km

e Jbig o1 E2O 40 A B
FE 134 B34 6 B

EITHE. ES At 20km Okt

B E T 066k P a

& Bl 30m. =60kt

1 7 B R B, 2 46 m e @kt

2amifzld E &R EAH 220km 0 20MM)
FE18 1 70km @0 NM)

18mszll EDaERE  F {0 650kmEE0MNM
FE {8 560km (300 MM}

<03 B 03850 F 5>

QB =

Bl chi TEm{TIR

FERFT L ibig 3 EIE B 6 R
B4 134 EOS 501341 )

EFTHME. ES It 20km b 2kt

L EE 076hPa

&= BLiE A0mS=EEkL)

B 7 B R B 40m = @0kt

FERFD % D0k &0 kD

2 Bl w1 BB 280km O BOMM}
Fa {8 220km (1 20 MM}

<03 8165850 F iR

EEa] -

T ey HF A hD AEAEEFI80km

FERFT L 648 26 EO0436.0 B
B 190 B0 020 7R

EFTHME. ES 3t 20kmh 2kt

L EIE 985hFPa

&= BLOE 28 msS G0kt

& AL E A8m 2iT0kt)

FERFD 1% 140k m 75 MM




23

17m/s
20m/s

12

20m/s
25m/s

2

3



23 9 2 15 48

02 103 |04
12 15 18 21 24 03 06 09 12 15 18 21 24 03 06 09

— 4D
(2 18 3 18 ) 24 70 150
___________ 50 3 B R
(2 18 3 18 ) 24 70 150
50 3
|
3 4 y
20 |
< | D
20 25
< 4D %
25 |




12226 | 187

0:28

172

13:15 | 164

1:04

145

12:29 | 186

0:31

170

1317 | 163

1:07

143

1314 175

1:08

166

1406 158

1:45

142






